HSC 2001 - Software Design and Development

Question 18

18 A systems analyst has consulted the users during the planning stage of the project to
develop new payroll management software. The analyst does not communicate with the
users again until the training program for the new software begins.

Which statement best describes the appropriateness of this approach?

(A) Itis appropriate because users do not understand the design process.

(B) It is appropriate because users need to understand how to use the software before
it becomes active.

(C) It is not appropriate because the users should have the final say about what the
software should look like.

(D) It is not appropriate because the users’ perspective has not been acknowledged
during the design stage.

Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 8.2 5.1 5 4.2 0
B 17.8 13.1 11.1 21 0
c 28.8 17.5 16.6 19.8 18.2
D 45.2 64.2 67.3 74 81.8
N 0 0 0 0 0
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The table and graph show, for the groups of students whose marks in the examination corresponded to the

borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to

identify: No valid response.
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